MANOVA Three Groups Using SPSS: Answers 2
	1.
	Is there sufficient correlation among the dependent variables to justify the use of MANOVA?

	2.
	Was the assumption of Equality of Covariance Matrices violated? Explain.

	3.
	Is there a statistically significant multivariate effect of homeless status on the dependent variate?

	4.
	Which of the dependent variables achieved statistically significant differences among the groups?

	5.
	Identify the proper post hoc analyses for any statistically significant univariate effects. Explain your answer.

	6.
	Why would a researcher conduct a MANOVA instead of several ANOVAs?

	7.
	Write a Results section for this study.


	1.
	Is there sufficient correlation among the dependent variables to justify the use of MANOVA?
YES. THE CORRELATION BETWEEN THE DEPENDENT VARIABLES ACHIEVED A MODERATE POSITIVE CORRELATION (r = .47). 

	2.
	Was the assumption of Equality of Covariance Matrices violated? Explain.
NO! RESULT OF THE BOX'S TEST OF EQUALITY OF COVARIANCE MATRICIES INDICATED NO VIOLATION (p = .370).

	3.
	Is there a statistically significant multivariate effect of homeless status on the dependent variate?
YES! ACCORDING TO ALL FOUR MULTIVARIATE TESTS, THERE IS A SIGNIFICANT MULTIVARIATE EFFECT OF HOMELESS STATUS ON THE DEPENDENT VARIATE.

	4.
	Which of the dependent variables achieved statistically significant differences among the groups?
GENERAL HEALTH STATUS

	5.
	Identify the proper post hoc analyses for any statistically significant univariate effects. Explain your answer.
THE LSD IS ONE OF THE PROPER POST-HOC BECAUSE THE EQUAL VARIANCES ASSUMPTION IS NOT VIOLATED.

	6.
	Why would a researcher conduct a MANOVA instead of several ANOVAs?
THERE ARE AT LEAST TWO REASONS TO CONDUCT A MANOVA INSTEAD OF A SERIES OF ANOVAs. (A) MANOVA IS A MORE POWERFUL STATISTICAL TECHNIQUE (I.E., IT IS BETTER ABLE TO DETECT DIFFERENCES IF THEY REALLY EXIST), (B) MANOVA CONTROLS FOR AN INFLATED TYPE I ERROR.

	7.
	Write a Results section for this study.


